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1)Проводим из точки K прямую, пар-ую 
BD1, и она пересечет прямую B1D1 в 
нек точке W (т.к. точки K,B,D1,B1 лежат 
в одной плоскости)
2)B1KW~B1BD1 (из пар-ти)=>
B1W/WD1=⅔
B1D1=V50=5V2

W

B1(0,0)
D1(5,5)
O(2,2)
C1(0,5)
C1O{2;-3}

(x,y)

(x1,y1)

(x2,y2)
p{x2-x1,y2-y1}

q{x-x1,y-y1}

q=k*p
x-x1=k(x2-x1) => k=(x-x1)/(x2-x1)
y-y1=k(y2-y1) => k=(y-y1)/(y2-y1)

уравение прямой
(x-x1)/(x2-x1)=(y-y1)/(y2-y1)

(x-0)/2=(y-5)/(-3)
x=2(5-y)/3

y=0
B1P=x=10/3
PA1=5-10/3=5/3

S(KC1B1)=
=5*2/2=5
V(A1KC1B1)=
=5*10/9=50/9
S(cub)=125
S(cub-pir)=
=125-50/9=1075/9

мгу


